Card 20
2+ 3/ =178



Card 41
52 -7=19




Card 33
31+14+9 ="




Card 54
/8 -29=7



Card 49

A farmer has 83 sheep and 22
COWS.
How many animals does he have
altogether?



Card 105

Lucy has £16, James has £15 and
Oliver has £14
How much do they have
altogether?




Card 45

What is 5 worth in the number
3587



Card 50

What is the total of 89 and 127



Card 101
£24 -f£16=£7



Card 8

Daniel has 75 marbles.

Jasmine has 44

How many more marbles does
Daniel have than Jasmine?




Card 31
109 -85 =7




Card 24
82-13="



Card 69

Rebecca had £65 for her birthdau.
She bought a doll for £39.
How much birthday money does
Rebecca have left?




Card 26
21+ 31+11 ="



Card 63
57 - 37 =7




